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Thread t = new Thread(runnable);
t.start();
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- new Thread() : gll#java.lang.Thread¥3g:
¢ javalang.Thread.Thread()

Allocates a new Thread object.|This constructor has the same effect as Thread (null, null,
gname), where gname is a newly generated name. Automatically generated names are of the

form "Thread-"+n, where nis an integer.

« thread.start();
@ void java.lang.Thread.start()

Causes this thread to begin execution; the Java Virtual Machine calls the run method of this
thread.

The result is that two threads are running concurrently: the current thread (which returns from
the call to the start method) and the other thread (which executes its run method).
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new Thread()

« new Thread() : gll#java.lang.Thread¥3g:
. HiERQEFEdaemon, priority, contextClassLoader
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thread.start()

o thread.start)#fiA : ClEEZIZE | FHISEIZIE
o LIERBUIDA

JavaZiz > java.lang.Thread
------------------------------- N —
ERRELFE [—— Pthread(POSIX thread)
——————————————————————————————— T

Mz E SR > task_struct




Java.lang.Thread.start0();
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« pthread_create()2Linux/UnixZ& %t N EIEEPOSIXE&AZI L
 Linux 2.6+ {fAANPTL(Native POSIX Thread Library) {EspthreadfJscIi

0x00007f7febdfef59 __pthread_cond_wait + 0xb9
0x00007f7fdc968802 * sun.misc. Unsafe. park (boolean, long) bci:0 (Interpreted frame)
0x00007f7fdc9563d0 java.util.concurrent.Iocks.LockSupport.park(java.lang.Object) bci:14 line:186 (Interpreted frame)

Java util. concurrent. locks. AbstractQueuedSynchronizer$ConditionObject. await() bci:42 line:2043 (Interpreted fra
java. util. concurrent ankedBIockungOueue take() bci:29 line:442 (Interpreted frame)

com. § s service. gmat e B w=Smrvicelmpl$Comsumer. run() bci:14 1ine:866 (Interpreted frame)

* java. lang. Thread. run() beci:11 line: 745 (Interpreted frame)
<{StubRoutines>
JavaCalls::call_helper (JavaValue*, methodHandle*, JavaCallArguments*, Thread¥) + 0x21a
JavaCalls::call_virtual (JavaValue¥, KlassHandle, Symbol*, Symbol*, JavaCallArguments*, Thread¥*) + 0x113
0x00007f7fe5929434 __PGOSF3__Z12thread_entryP10JavaThreadPé6Thread + O0x114
0x00007f7fe585a110 JavaThread::run() + 0x230
0x00007f7fe597f81a java_start(Thread*) + Ox15a

« Jstack -m <pid>
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 pthread_create()ZLinux/Unix& % FEIEEPOSIXZAFZERTGE

« Linux 2.6+ SEAANPTL(Native POSIX Thread Library) {E9pthreadfdscIi
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> Ay =2 N d int os::java_to_os_priority[MaxPriority + 1] = {
° ﬁﬁ%—&ﬁlﬁ ! ?XEI‘JCPUHTJ Eﬂ@ﬁ 19, // @ Entry should never be used

4, // 1 MinPriority
3, // 2
2, // 3

public final static int MIN_PRIORITY = 1;
1-' ,u"l.l,u"l.l 4
9, // 5 NormPriority
-1, // 6

public final static int NORM PRIORITY = 5; ; /! ;
T2 Hf
-4, // 9 NearMaxPriority

-5 // 1@ MaxPriority

public final static int MAX_PRIORITY = 10; ¥
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